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A B i HAAT ® @) @BD® (D) ® @6) @® ©D (O) (BB) (DB ® ® () ® @
<FOHR T >
1
=7 b (E B X2 4.0 X2 X2 X2 X2 1.5 X2 X2 X2 3.0 1.5
2 EM-CE3. 5sq-2C 423.5| m 4.0 32.2 87.2 79.2 52.6 16. 2 33.2 33.2 11.0 43.2 21.5
=L (F N B 1.5 X2 6.0
3 EM-CE3. 55q-3C 67.0 m 21.5 38.0
=7 b (F B 1.5 1.5
4 EM-CE5. 55q-3C 22.6) m 1.5 18.1
=7 b (F B 1.5 1.5 1.5 1.5
5 EM-CES8. 0sq-3C 54.2) m 1.5 5.5 21.6 1.5 18.1
=7 b (E VB 1.5 3.0 1.5 1.5 1.5
6 EM-CE14sq-3C 75.9 m 1.5 19.6 18.1 1.6 26. 1
=7 b (F N B X2 4.0 X2 X2 X2 X2 1.5 1.5
7 EM-CE22sq-3C 333.8/ m 4.0 32.2 87.2 79.2 52.6 11.3 16. 6 16. 6 5.5 21.6
Ar—7 v (& NBLEY)
8 EM-CET100sq m
Ar—7 v (& NBLEY)
9 EM-CEE3. 5sq-15C m
2r—7 v (& NBLEY)
10 EM-CEE3. 5sq—20C m
11
< PRUARERAE T >
12
R AR
13 44T H 1 1
R AR
14 24T H 8 Ik 1 1 1 1 1 1 1 1
15
<TINKRy 7 AT >
16
TIVIR Y T A
17 150X 150 X 150 SUS (WP) 1| 1
18
<EET.>
19
SR X2
20 622 1.0, m 11.0
ERE
21 654 m
ERE
22 670 m
EmBLar L S ERE X2
23 F2-24 2.0l m 2.0
24
< Bl AR >
25
AT
26 FEP30 2 & 2
WAy TV T
27 WUG24 2 @ 2
Va2
28 6 & 6
Sy IS HEfGE A
29 T2 1 18 1
30
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THAF . Rt JEANE - JENT1 7 =R a— NRIAKEREER NO. 2
1 2 3 4 5 6 10 11 12 13 14 15 16 17 18 19 20
LT-1 HH21
X ~ ~
HH21 HH1 (BER%
FEAE (m 3.0 8.4
Gl R i Hfiz CD7 my)@ | CD7 ny)@®
<FOAR T >
1
=7 N (CENRCHR) X2 4.0 X2
2 EM-CE3. 5sq-2C 26.8 m 6.0 16.8
=7V (& NBCHRL
3 EM-CE3. 5sq-3C m
=7V (B NBCHRL
4 EM-CE5. 5sq-3C m
=7V (& NBCHRL
5 EM-CES. 0sq-3C m
=7V (& NBCHRL)
6 EM-CE14sq-3C m
=7 N (CEWNRCHR) X2 4.0 X2
7 EM-CE22sq-3C 26.8 m 6.0 16.8
=7V (& NBCHRL
8 EM-CET100sq m
=7V (& NBCHRL
9 EM-CEE3. 5sq—15C m
=7V (& NBCHRL)
10 EM-CEE3. 55q—20C m
11
< HRB AR E T >
12
ik AR
13 44T %
ik AR
14 25T H
15
<TFNKRy 7 ZL>
16
TNR Y 7 A
17 150X 150X 150 SUS (WP) Ifii
18
<AL >
19
&JEE
20 622 m
&JEE
21 G54 m
&JEE
22 G70 m
LB & O ERE
23 F2-24 m
#REF !
24
<BE g >
25
RAEETF
26 FEP30H i
L5 T AN
27 WUG24 1
aIZ
28 1
Sy IR
29 1
30
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AA LED 420W
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% T fE oo Ho TR AN S T

HEBA R NI TR a— A X — o
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A MBIy METe
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AA LED 420W
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N A =. NYAN
OB WO OE
T Ff gl 31l #H OB EAL B & -
BT 7 —7MET (CV14sq-3C 20mmLA T m 72.2 42. 24kg
r—7NAET CV22sq-3C 40mmLL T m 176.2 151. 53kg
r—7NAHET CV38sq-3C 40mmLL T m 123.6 174. 28kg
r—7NRET | 1V5. bsq 5mmPL T m 5.2 0. 36kg




feat (Fhim)
. B AR

iR CIA
f o M f A ' NO. 1 NO. 2 NO. 3 NO. 4 NO. 5 NO. 6

<=7 NET>

=7 NET CVldsq-3C m 72.2 72.2
=7 NET CV22sq-3C m 176. 2 176.2
=7 NET CV38sq-3C m 123.6| 123.6
r—7ET. CV60sq-3C m
r—7UET. CV150sq-3C m
r—7 0 ET. CVT150sq m
r—7 A ET. CVV3. 5sq-5C m
r—7 0 ET. 1V3.5sq m
=7 NAET 1V bsq m 5.2 5.2
r—T7)UETL 1V125sg-3 m




LHA PR - Roflt AR - RN 7 =R — b RESE R NO. 1
1 2 3 4 5 7 8 9 10 11 12 13 14 15 16 17 18 19 20
o HH1 (BERR) |HH2 (BER%) |HH3 (BER%) |HH4 (BER%) |HH5 (BERR) HH1 (BERR) |HH7 (ERR) |HH6 (BERX) HH4 (BER) HH7 (BER) HH1 (BER)
X ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~
HH2 (BER%) | HH3 (WER) | HH4 (WERR) | HH5 (BE%) p-8 HH7 (BER) |HH6 (BERR) P-6 pP-7 P-5 5laARE
B G 34.5 27.1 58.0 67.6 8.3 52.1 52.5 10. 1 25.9 16.7 2.0
i 5 B gk i @ ® @ ® @ ® @ @ (D) ® @
<HT—TNET>
1
=7 MAREL 2. 2.8 2.8
2 CV14sq-3C 72.2] m 10. 1 25.9 16.7
=7 MAREL 2.0
3 CV22sq-3C 176.2| m 67.6 52.1 52.5 2.0
=7 MAREL
4 CV38sq-3C 123.6| m 34.5 27.1 58.0
=7 MAREL
5 CV60sq—3C m
=7 MAREL
6 CV150sq-3C m
=7 MAREL
7 CVT150sq m
=7 MAREL
8 CVV3. 55q-5C m
=7 MAREL
9 1V3. 5sq m
=7 A ET 1.3 1.3 1.3 1.3
10 1V5. 5sq 5.2 m
=7 MAREL
11 1V125sq-3 m
12
<MW >
13
RRE T
14 -
15
16
17
18
19
20
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24
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% T & gl Al jsil ¥ Ao AL B = i
+T R A i m 153.1
MR A+ m 107.8
R PREERD m 22.2
s A+ m 33.4
e m 7.5
SRR — 7" W=150, 2% m 198. 2
ERE T WA AREIEE R A FEPS0 m 227.0
B AHEE A AU IE S FEP30 m 100. 5
WA RS A RIS FEP40 m 43.5
B AHEE A AU IE S FEPS0 m 15.0
WA RS A Rk IE S FEP65 m 22.6
BLEMBS L7 e v HER A FEP50 X 2 i 1
A=/ PR A FEPS0 X 4 1 2
Ny FEP30 H (eS| 4
N~ A FEP40 ] 1 1
L A FEP65 F (eS| 1
FERERRE T R LR T 44T H P 1
FR ARG T 24T FH Bz 8
’;;&%TI_ ANy R LEE H1-6 pre 9
BT BT DFE Vi 9




TR R (k)
7Rl Wi+ o 153. 1 103.68  5.74 18.86  3.78  21.00
B 4+ t 107.8 82.80  4.66  7.97 1.90  10.42
MR RN m 22.2 9.74 1.89  10.58
Vst Ui A+ it 33.4 11.70  0.56  10.02 1.68  9.41
S IE ni 7.5 5. 76 1.70




T THERFR GERT)

TR RE TR RE

=) va Bk B 2 (44T H) (24T J0)
1600 X 1500 1600 X 1600

(¢ &3] 1 8

1470 11,52 11.52

R M m 103.68]| # 11.52 92. 16
14270 9. 20 9. 20

HR e+ m 82.80 # 9.20 73. 60
15270 1. 30 1.30

G o U e+ n .70 % 1. 30 10. 40
14270 0. 64 0. 64

FLH IR n 5.76] 2 0.64 5.12




+THEEFF HHL)

HH

HH

. s W7
nn £ R B H1-6 12-6
i) 2
1372 2.87 4,65
R A+ nt 5.74 3 5.74
13472 2.33 3.65
MR 4L+ m 4.66f 4. 66
144720
R PR m B
13472 0.28 0.59
T ALER 4L+ m 0.56ff % 0. 56
1372 0.85 1. 44
FEHHIE nt .70 3 1.70




T THERER (KT

NO. 1
- +T +T +T +T +T +T
=] 2
A
i8] 4 B HiA 1 9 3 4 5 6
(m%0) 41.1 25.3
10m%47= 3.99 3.99 3.10 3. 00 3.00 2.58
R 8t m 18.86| # 12.33 6.53
10m%7= b 1. 40 1.40 1.24 1.20 1. 20 1.20
MR A+ i 7.97 % 4.93 3.04
10m%7= b 1.95 2.06 1.59 1.59 1. 64 1.27
MR PRAERD m 9.74| % 6.53 3.21
10m%7= b 2.43 2.43 1.72 1.67 1.67 1.25
7 e A+ n 10.02 # 6. 86 3.16




T THERER (KT

NO. 2
- +T +T +T +T +T +T
=] 2
A
A Rt i 7 8 9 10 1 12
(%) 1.1 3.0 11.8
10m%47= 2.94 2.56 2.64 2.44 2.31 2.34
R 8t m 3.78]| 3 0.29 0.73 2.76
10m%7= b 1. 40 1.28 1.20 1.16 1.10 1.20
MR A+ i .90 ? 0.13 0.35 1.42
10m%7= b 1.54 1.28 1. 44 1.28 1.21 1.14
MR PRAERD m 1.89|| # 0.16 0.38 1.35
10m%7= b 1.38 1.14 1.31 1.15 1.09 1.01
7 e A+ n 1.68| Z 0.14 0.35 1.19




T THERER (KT

NO. 3
+T +T +T +T +T
=] 2
A
A Rt i 13 14 15 16 17
(%) 19.5 38.5 57.3
10m%7= b 2.16 1.97 1. 80 1.72 3.10
R At m 21.00f % 4.21 6.93 9.86
10m%47= 9 0.98 0.94 0.90 0.88 1.24
W A+ m 10. 42| 7 1.91 3.47 5.04
10m%7= b 1.18 1.03 0.90 0. 84 1.54
MR PRAERD m 10.58|| # 2. 30 3. 47 4. 81
10m%7= b 1.07 0.93 0. 80 0.74 1.72
5% - ALBR A+ m 9.41ff F 2.09 3.08 4,24




e o R . NO.1 | NO.2 NO%?E%Vﬂiz.4 NO.5 | NO.6

<tT>

Bl 11 W=700, H=570

Bl + T2 W=700, H=570

Bl +1-3 W=620, H=500

B T4 W=600, H=500 41. 41.
Bl + 1.5 W=600, H=500

BlE - T-6 W=600, H=430 25. 25
Bl 17 W=700, H=420

Bl + T8 W=640, H=400

B+ T-9 W=600, H=440 1. 1.
B L T-10 W=580, H=420 3. 3
Bl T-11 W=550, H=420

B L T-12 W=600, H=390 11. 11.
B T-13 W=490, H=440 19. 19
Bl +T-14 W=470, H=420

B L T-15 W=450, H=400 38. 38
B T-16 W=440, H=390 57. 57
Bl +T-17 W=620, H=500

AR T — > W=150, 2% 198. 198




" o - HARPR
W A HAE " NO.1 | NO.2 | NO.3 | NO.4 | NO.5 | NO.6
<BlEIL>
AT A RS HERR A FEPS0 m 227.0 227.0
WA A AR FEP30 m 100. 5 100. 5
W AR & B IE % FEP40 m 43.5 43.5
WA & B IE %  FEPS0 m 15.0 15.0
WA & RS IE % FEP65 m 22.6 22.6
&R G22 m
& G54 m
&R G70 m
G JRBLA] & O EAE F2-24 m
<ELAE AT IR >
A A= R A FEP50 X 2 1 1 1
A A= R A FEPS0 X 3 1
A A= R A FEPS0 X 4 1 2 2
e A FEP30/H 1 4 4
e A FEP40 1 1 1
L= A FEP50 1#
e A FEP65 1 1 1
B AL T FEP30 /1] &
iAo o 7Y 7 WUG24 e

Al I




. BEWNR

= AN

o A& A HLpE NO.1 | NO.2 | NO.3 | No.4  NO.5 | NO.6
< FLREE 1>
A L T 44T p-o 1
A RS T 24T p-o 8
BEAE T A T FE p-o
<NV RAR—/LERE T >
NV KRR —)LE%iE H1-6 B 2
Ny R — /LR H2-6 e
<{EHh T >
B T DFE i 9
BEH T ELB i




LA TR Rofi Ll AR G- ERTL == RSB NO. 1
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
HH18 HH19 T2-11 T2-10 T2-9 HH20 T2-12 T2-14 T2-15 HH19 T2-12 HH19 HH20
X R ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~
HH19 T2-11 T2-10 T2-9 HH20 T2-12 T2-14 T2-15 T2-16 T2-13 T4-2 B A TR A7 LR
EEHE (m) 26.3 6.4 18.1 18.1 5.5 21.6 26. 1 18.1 18.1 21.5 19.0 4.3 7.5
[l O it BT ©) @6) @® ®D (O) B (B @ @
<tT>
1
Bl +T-1
2 W=700, H=570 m
Bl +T1-2
3 W=700, H=570 m
Bl +T1-3
4 W=620, H=500 m
Bl 14 -0.5 -0.5 -0.5 -1.0
5 W=600, H=500 41.1 m 4.9 16.6 16.6 5
Bl +T1.-5
6 W=600, H=500 m
Bl +1-6 -1.0
7 W=600, H=430 25.3 m 26.3
Bl +1-7
8 W=700, H=420 m
Bl +T1.-8
9 W=640, H=400 m
Bl +1-9 -0.5
10 W=600, H=440 1.1l m 1.6
Bl 110 -0.5 -0.5 -0.5
11 W=580, H=420 3.0 m 1.5 1.5 1.5
Bl +T-11
12 W=550, H=420 m
Bl +T-12 -0.5 -0.5 -1.0 -1.0
13 W=600, H=390 11.8 m 1.5 1.5 4.3 5
BlE +1-13 -0.5
14 W=490, H=440 19.5 m 20.0
Bl +T-14
15 W=470, H=420 m
Bl/E 115 -1.0 -1.0
16 W=450, H=400 38.5 m 21.5 19.0
BlE 116 -0.5 -0.5 -1.0
17 W=440, H=390 57.3 m 24.6 16.6 18.1
Bl +T-17
18 W=620, H=500 m
WA T — -1.0 -1.0 -1.0 -1.0 -1.0] X2 -2.0 -1.0 -1.0 -1.0 -1.0 -1.0 -1.0 -1.0
19 W=150, 2% 198.2 m 26.3 6.4 18.1 18.1 5 23.2 26. 1 18.1 18.1 21.5 19.0 4.3 5
20
21
22
23
24
25
26
27
28
29
30




AR . RofE L AR - JERTL =R o— FRUERRE NO. 2
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
" HH18 HH19 T2-11  T2-10  T2-9 HH20 T2-12  T2-14  T2-15 HH19 T2-12 HH19 HH20
X [ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~
HH19 T2-11 T2-10 T2-9 HH20 T2-12 T2-14 T2-15 T2-16 T2-13 T4-2 BEAR D A TR A7 LR
BERE (m) 26.3 6.4 18.1 18.1 5.5 21.6 26. 1 18.1 18.1 21.5 19.0 4.3 7.5
(il B 7t HAT @ @©) @® ®© (O) B (B @ @
<FlE T >
1
WA A B IR X2 X4 X4 X4 X4
2 R4 FEP50 227.0, m 52.6 19.6 66. 4 66. 4 22.0
WA A B IR 1.0 2.0 2.0 1.0 X2 2.0 X2 2.0
3 FEP30 100.5 m 1.6 27.6 19.6 18.1 8.6 15.0
WA A B IR 1.0 2.0
4 FEP40 43.5 m 21.5 19.0
W R & ROR AR A% X2 2.0 X2 2.0 X2 2.0
5 FEP50 15.0/ m 3.0 3.0 3.0
WAL G A AR 1.0
6 FEP65 22.6 m 21.6
&EE
7 622 m
&EE
8 G54 m
&EE
9 G70 m
SRR LS ERE
10 F2-24 m
11
< B >
12
L7 a sy g
13 PR FEP50 X 2 1 & 1
A=
14 HEPRFAFEP50 X 3 1
L7 a sy
15 HEPRFHFEP50 X 4 2 | fE 1 1
YL A
16 FEP30 /1 4 | & 2 2
YL A
17 FEP40 L A 1
YL A
18 FEP50H 1
YL A
19 FEP65 [ L A 1
SRR
20 FEP30/H 1
BiMy 7V 7
21 WUG24 1
VAV
22 &
23
24
25
26
27
28
29
30
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Fh i O .64
thes . 60
T =Rk 4-M24-600 1




Vo=

£

Mo T FH B &
44T F FE A
FEBE R
1600 X 1500
03381
‘ |H 6L
3 I (1 || N vt
I
\ VET6 | 4-M24 7>m—a\/» b
\ \ L£600
1B3. 5sq | 24 _
§ \ // =
\ / avo R
\ (o ck=18N/mm’ Ll E)
- \ ' /
= - &_g/ﬁéWE
L} RG-30
¢ 10-1500L 600
800
1600
pa pon B = T &= =
R JE VI = 1.781/6 X ( 3.381 X 1.6 + 3.381 X
(% @ 1+ ) 1.6 + 2  X(3.381 X 3.381 +
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a7 U=k
o ck=18N/mm” V2 = 0.60 X 0.60 X 1.50 = 0.54 m
it} B V3= 11.52 — 0.64 X 0.10 — 0.54 —
% 4 + ) 3.381 X 3.381 X 0.15 = 9.20 m
¥+ o
( 3 4 + )| vi=11.52 — 9.20 X 1/0.9 = .30 m
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xom E E
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i s
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